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Sem - I1II/ C/CCR
Surveying

Full Marks : 70
Pass Marks : 28

Time : 3Hrs.

Answer all 20 gquestions from Group A, each question
carries I marks.
Fu-A ¥ w4t 20 weAl @ SR <, HT WY 1 A [ AB R |
Answer all Five questions from Group B, each question

carries 4 marks.

79-B 9 @l diw gl & Ser ¢, wAS uee &7 A 4w |

Answer all Five questions from Group C, each question
carries 6 marks.

79-C & wft i uwel @ SoR &, Wd® 9o &1 A1 6 3T 2

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TF U9 & 9 FA & IR U & e (AR FHH A)
gt aifey, arger @ Wi G on wed €

The figure in right hand margin indicate marks.

¢ ol B FF yoie & que & |
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GROUP-A
1. Choose the most suitable answer from the following
options : 1x20=20

watfere Sugad fasey &t gaax ford -

(i) Revenue chain consists of .............. links.-
(a) 16
(b) 33
(c) 66
{d) 100

i Wrg o d Hisal gl 2 |

(i)  The survey in which curvature of ecarth is
taken into account is called:
(a) Planc Survey
(b) City Survey
{c) Geodetic Survey
{d) Hydrographic survey
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(1)

(1ii)

(1)

(1v)
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wdgor foray gefl Y awar & wr=an
Q Wil 8, dEdEr 8 —
(a1) <= wdeor
(@) Ry adeor
(@) 1y |dao
(2) srggiuifdra wdaon

Correction for slope is always:
(a) Positive

(b) Negative

(¢) Both (a) & (b)

(d) None of these

T ey gNen ghar 87
(&) g e

(&) FoTHS

(@) o &ty T A

(@) =W A 3Ig

Optical square is used for :-
(a) Measuring vertical angle
(b) Measuring horizontal angle
(c) Setting out right angle

(d) All of the above

P.T.O
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(iv)

(v)

(v}

(vi)
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yarEia Ifmar $1 Sea g @:
(1) Seafar o1 |9 §

@) afows Hior a7 A

(|) gaaivr fufRa s A

(q) Sugaa

Check line 1s also called ........c..c.oce. line.
(a) Base

(b) Tie

(c) Proof

(d)y All of the above

qfieor ¥ET B IGr @ ded B

(<) Suyaq =

Invar tape 1s made of an alloy of :
(a) Steel and Nickel

(b) Steel and Tin

(c) Copper and Zink

(d) Cobalt and Steel
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(vii)

{vii}

(viii)
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TTar wiar few g arg @ 997 gar
27
(1) saura @it e
(@) s silv fea
(|) drar aixT foie

(g) ®laree 3l @G

Which of the following compass is used for
measuring whole Circle bearing ?

(a) Surveyor's Compass

(b) Prismatic Compass

(c) Both (a) & (b)

(d) None of these

frafafaa 4 9 5w Re q@s &1 sya
yoiga feswame AR # ghar 27

(@) wdR Rayas

(@) sl feeyas

(@) ‘& 3k 9 <=

(]) T ¥ @Iz T

The vertical distance between two consecutive
contours 1s called :

(a) Contour mnterval

(b) Horizontal equivalent

(¢) Gradient of contour

(d) None of these

PT.O
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(viii)

(ix)

(ix)

(x)
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fedY =Y g wwe YEnsn & 9=
P 9T O HrAR ©:

(31) ¥Hi=g Faxrd

@) afow wqe

(@) GHI=a ¥ e

(@) 79 9 g 7=

The quadrantal bearing of line is S30°W.
It's whole circle bearing is:

(a) 30

(b) 150"

(c) 340"

(d) 210"

Ud Y@l &1 agAier Req S30'w 21
su®T i g9 Reu= shm

(a1) 30

@) 150°

(=) 340°

() 210"

if bearing of AB = N20"W and bearing of
BC = S60"W then ZABC will be:

(a) 90

(b) 100"

(c) 110°

(d) None of these

https://www.sbtediploma.com

wiod ewopdipaigs mmm/sdy
[dipa1q . y



wodewo(dipaigs mmay/sdny

NT3014

(x)

(x1}

(x1)

(xii)
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Ifg AB &1 R&A = N20"W a2 BC
&1 faga= = S60'W &, G4 ZABC &1
q9 &I

(a1) 90’

@) 100°

@) 110°

() 9 | &I 7

If back bearing of a line is 230" its fore
bearing will be :

(a) 30

(b) 40

(c) 45’

(d) 50

afs fedl Y &1 gva e 230°2
al guaT AufesHE ghm:

(an) 30°

() 40°

(\|) 45"

(@) 50°

At every turning point, which of the following
sight is taken ?

(a) Fore sight

(b) Back sight

(c)Both'a' & 'b'

(d) None of these
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(xit})

(xiii)

(xiii)

(xiv)
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e yRady fag ox fFr=fafRaa & @
I Jgelt® forar wrar 8 7

(31) A ®

CORLEIEGIE &I

(|) ‘@1 3k ‘g9’ =N

(%) 379 | B3 T

Closed coutour lines with lower value inside
represent a:

(a) Pond

{b) Hill

(c) Plane Surface

(d) All of above

X DI NG HH HE dredl AT

The imaginary line joining the points of
equal elevation is known as:

(a) Isogonic line

{b) Agonic line

(c) Line of collimation

{(d) Contour line
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AT Soadr ard fagat &t Ararareh
HTA IS IET HEATd! ?:

(a1) wafemurd ¥@n

(@) vnfas Y@

SIEGERLC]

(2) w¥=a X

The error due to bad ranging is :
(a) Cumulative Negative

(b) Cumulative Positive

(c) Both'a'and b’

(d) None of these

Tad ARG & sl Ffe gidt 27
(@) wadt monie

(/) H9d g1

(&) a1 IR 9 QAN

() 9 A B T8

What will be the correction for curvature for
a distance of 1000 m ?

(a) 0.06735 m

(b) 0.0730 m

(c) 0.66350 m

(d) 0.07857 m
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(xvi)

(xvii)

(xvil)
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1000 Hlo 8 & fay awar deeEH
feam ghm?

(31) 0.06735 #Hlo

(3) 0.0730 #ro

(W) 0.66350 Hio

(2) 0.07857 #Hlo

Levelling deals with measurement in :
(a)Vertical planc

(b) Horizontal plane

(c) Both'a' & 'b’

(d) None of these

aaer & aa 7 arft & fog fear
ST 2 7

(31) SeafeR aa

(@) @fowr aa

@) ‘o 3k 9 g

(?) 79 | *ig I

Which of the following levelling staff
consists of a vernier ?

(a) Target staff

(b) Self reading staft

(c) Both'a’ & 'b'

(d) None of these
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(xviii) frr=faRaa & @ feg adau 1w A

{x1x)

{xix)

{xx)

AR wgar @7

(31) demarfaa T
(8) w@Harfaa ww
(@) ‘& sk " =l
(&) 379 A @3 =l

One hactare 1s equal to :
(a) 1100 m’

(b) 11000 m’

(c) 10000 m’

(d) 12000 m’

U$ BFCIR SRTE% BT 8 7
(31) 1100 Tefdies
(8) 11000 TR
(&) 10000 FHiHCR
(g) 12000 FfHIex

The area of an irregular plotted figure can be
accurately obtained with the help of:

(a) Parallax bar

(b) Planimeter

(c) Pentagraph

(d) All of the above
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fFrefafaa & 9 feae werar 9 wic
fod A afrafia srafa &1 a3wd
y[Ear | wia far o wdar @ ?

(31) URTl9H IR

GROUPB

4x5=20

¥l ofg g3af @ S9Y S |

2.

Enumerate different types of chains. Describe any

one in brief,

A= g & oflel @1 1w ford | fsh
U &1 G989 F quis Y |
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OR(312141)

Explain the principles of surveying.
wdaor & figral 3 e |

Differentiate between following terms :

(a) Main station and Tie station
(b) Base line and Offset

fr=rifea gl § IR wse @ :
(1) g& Ru= dAT WA LI
(F) MR YE@T qAUT GHSBT

OR (31214T)

Write relative merits of self-reading and target staffs.

1615302

WA U9 @ied qrfad el & a9

o @ |

Define the following terms :
(a) Ranging

(b) Bearing

{c) Hypotenusal allowance
{d) Datum

https://www.sbtediploma.com
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Fr=ifea gel o aRRamn foad -
(31) aIm@=
@) femam
(@) fawel sedh
(5) T aa
OR(3r2r4m)

Compare whole circle bearing system and quadrantal

bearing system with necessary sketch.

gof qa Rewm vefa @ wda g vefa
@ AT HATEED ARG B WA P |

5. Explain the following terms :

(a) Line of collimation

(b) Change point

fFr=ifea uel & =T aW:
(1) re1 Y@
(@) uRad+ fa=g
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OR (31214T)
Define the following terms :
(a) Fore sight
(b) Intermediate sight
(c) Back sight
(d) Well conditioned trianglc
fr=rifea usl @1 afsm foa:
(31) sradte
(a) AeaTaci®
(1) gzaradl S
(<) gafea Brgw
6. Write short note on polar planimeter.
4

gleiR wriflexr uv wig feuofl fad )

OR (312rdr)
Write uses of contour maps..
Hled wHfaa & Sudin &t fad |

P.T.O
https://www.sbtediploma.com

wod ewodipaigs mmm//isdiy

wod ewo(dipaiqs mmay/sdny

1615302 16

https://www.sbtediploma.com

NT3014

GROUP -C

Answer all Five Questions.

it ofg g & 9N < |

7.

6x5=30

What are the obstacles in chaining ? Describe with
a neat sketch how will you overcome an obstacle
to both chaining and ranging.

6
S A9 # BB qreg @ ? Uh e
HIYA dAT JINGA Sl A 961 S A9 DY
IR P W fam grRT avfa & |

OR (3rerar)

Define Bench mark. Calculate the sag correction
for a 30 m steel tape under a pull of 140 N in the
three equal spans of 10 m each. Weight of one
cubic cm of steel = 0.078 N Area of cross-section
of tape = 0.09 sq. cm.

aa fas @Y oREmT o | v 30 o gwreh
BIAT & 10 Wo & 9 &% WS H 140N
919 YR dTHIT AT & | T 99 HoHlo
SXTA &1 AR = 0.078 N, BIdT &1 3JJueA
FTe & da%d =0.09 T Ho Hlo & | A
g STd & |
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8. Determine the values of included angles in the
closed compass traverse ABCD. Given the

following fore bearings of their respective sides.

6
Line Fore Bearing
AB 122"
BC 262"
CD 318"
DA 38’
U Wqd AT YT ABCD & 3=adid ®IvIl
S A | FHD Rl @ I fReAE
frrifea A ™ 21
() (@ra feewra)
AB 122°
BC 262"
CD 318’
DA 38
P.T.O
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The following bearings were observed while
traversing with a compass. At what stations do
you suspect local attraction ? Find the corrected

bearing of the lines.

Line Fore Bearing Back Bearing
AB 134" 30" 314" 30’
BC 120" 00" 299" 20
CD 03" 20’ 185" 30"
DA 265" 00" 83" 30"

Ud §qd qrarar 3 @Rl & frefalaa
fegma A | S-S VI W g
IMHHT B GHEGAT 87 ¥@R_AT & ) fRsaH
I DY |

(k=) (erafasam) (Teafeaar)
AB 134° 30’ 314" 30

BC 120° 00' 299° 20"
CD 03’ 20" 185" 30"
DA 265" 00" 83" 30"
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9.  Describe closing error of a traverse. How is it

adjusted graphically ?

Ay @ [ Pfewr avia &Y | gud)
uifes fafer g &4 wEfora fear wrar € ?

OR(372r41)

Plot the following cross staff survey of a field and

calculate its area.

F13

9.5

b5
45

30

15

0

b

nc

1B

A

Uh 89 @ 9 Hig Wb ad &l Wic Y
AT SHHT TG STd BN |

E17

Fi3

65
45
k1]

15
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10. The following staff readings were taken on a

levelling staff by a level. If R.L. of first point is
376.500 m , then find out the R.L. of other points.
The position of level 1s changed after second, fifth
and cight readings. Apply the usual check.

0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835,
3.220, 3.115, 2.875 6

UP olddd gRT da&r 19 W f=ifea 1
egie fad ) T yom =g &1 |aria
ol 376.500 Hlo 2, dl 7Y ¥+ faga @
g dd FId H | dad @) Refy g,
Uiad T 3TSd YrgATH © qTq dgell TS 2 |
HHT WTd & |

0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835,
3.220, 3.115, 2.875

OR (312141)

Describe 'Rise and fall method' for computing the

levels.

dd & MET w1 D fov age Sar fafdr
&1 Ui B |
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11. Enumecral different classification of levelling.

Describe any one in short.

daee & A= offewn &1 ™ fad |
fod vd &1 a9 F quiq |
OR(312r141)
(a) Differentiate between plane surveying and
geodetic surveying.
(b) Write different types of Bench Mark.
(31) wwad adevr a1 4 Yy ad&er §

IR L BN |
@) fafr= R & o fa=sl & fod' |

dekk
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